Subject : English Set 1 Class : 10t

Code No : 31E Time : 50 Minutes
Total No. of Questions : 40 Max. Marks : 40

Four choices are given for each of the questions/incomplete statements. Choose the correct
answer and shade the correct choice in the OMR given to you with blue / black ball point pen.

40x 1 =40
41. You go straight and take left turn, you will find the Government School.
The language function for the above sentence is
A. Giving information B. Giving direction

C. Seeking information D. commanding

42. The word which collocates with ‘ride’ is
A. bicycle B. car

C. train D. plane

43. The word which has one syllable is
A. devil B. little

C. mouth D. total

44. ‘Vanita is driving the car.’

The passive form of the above sentence is
A. A car is driven by Vanita.

B. A car is being driven by Vanita.

C. A car was driven by Vanita.

D. A car is be driven by Vanita.
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45. Manoj has a bike. He ............... (have + buy) in the showroom yesterday.
The appropriate tense form of the verb to be used here is
A. had bought B. have bought

C. has bought D. had been buying

46. The appropriate prefix to form the opposite of ‘civilized’ is
A.ir B. dis
C.un D. il

47. Shreya is singing melodious song.

The part of speech of the underlined word is a/an

A. noun B. adjective
C. adverb D. pronoun
48. The match was ............. due to heavy rain.

The correct phrasal verb to be used here is
A. put on B. put up with

C. put off D. put out

49. Anjali is the cleverest girl in the class.

The comparative form of the above sentence is

A. Anjali is very clever then all other girls

B. Anjali is the clever than other.

C. No other girls in the class are as clever as Anjali.

D. Anjali is cleverer than any other girls in the class.

50. If you have scored more marks, you ........... got Government seat in the college.
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The correct words to be used here to complete the ‘if’ clause sentence are

A. wouldn’t have B. shouldn’t have
C. would have D. will have
51. Ankush writes Kannada nove,, ................ ?

The question tag to be used here is

A. did he B. didn’t he
C. does he D. doesn’t he
52. John saw a dog. ............... dog was black in colour.

The articles to be used here are

A.a B. an
C. the D. no article
53. He saw a big elephant in front ............ the temple.

The preposition to be used here is

A. of B. at
C.in D. beside
54. | can speak Kannada fluently ........... | can’t speak English.

The conjunction to be used here is
A. because B. but

C.or D. so

55. The chief guest accepted our ...........
The correct form of the word to be used is
A.invite B. inviting

C. invitation D. invites
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56. In a formal letter, ‘Respected Sir’ is known as
A. salutation B. subscription

C. superscription D. subject
57. ‘Leave alone strength, can you prove you have courage?.” This remark was made by
A. Swami B. Granny

C. Inspector D. Swami’s father

58. What is disgraceful, according to Swami’s father?

A. sleeping in the room B. sleeping beside granny

C. sleeping alone in darkness D. sleeping under the bench
59. Swami touched .............. in the room instead of granny.

A. leg of burgler B. leg of cook

C. wooden leg of the bench D. leg of devil

60. Where did Baleshwar find Roma at last?
A. beside the track B. on the tracks

C. in the hospital D. in the call center
61. Who volunteered to help Baleshwar?
A. railway employee B. the cop

C. tempo truck driver D. Dinesh Talreja

62. ‘The trees in that orchard are not mine, Senor.” Who is the speaker?

A. story teller B. the Americans
C. Surveyor D. Don Anselmo
63. Don Anselmo agreed to sold his property of ........... dollars.
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A. twelve hundred B. twenty four hundred

C. ten hundred D. fifteen hundred

64. What was the complaint of the Americans about the property?
A. the children were stealing money

B. the children were overrunning their property

C. the children were speaking in Spanish

D. the children were ploughing the land.

65. 14" amendment gave ............ to the black Americans.
A. freedom B. punishment
C. Government job D. Good education

66. Dr. Ambedkar was a voracious reader. Here ‘voracious’ means ................
A. thirst for money B. ability to understand

C. very eager for knowledge D. lack of interest

67. ‘They had come with high hopes.” Here ‘they’ refers to
A. Aunt’s neighbor B. music maestros

C. Smita’s family D. Smita’s relatives

68. ‘This is not the last time they are going to play.” This was said by
A. Aunt Sushila B. Anant’s mother

C. Anant D. Smita

69. How did Satish express his gratitude to his father?

A. by the painting B. by reading
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C. by attending school D. by hugging

70. ‘This is an idle pastime.” Who said this?
A. Satish B. school head master

C. Avtar Narain D. Inder

71. Grandma learnt climbing tree by her ..............
A. loving father B. loving mother

C. loving friends D. loving brother

72. What was the demand of grandma?
A. tree top house B. new garden

C. a week bed rest D. doctor’s treatment

73. The scepter shows the force of .......ccecereeerenee.

The appropriate option to complete this line of the poem is
A. the heart of kings,

B. the dread and fear of kings;

C. temporal power.

D. it is twice blest:

74. In the poem ‘Quality of Mercy’, mercy is compared to the .............
A. gentle rain B. heavy rain

C. temporal power D. king’s power

75. Mother India is writing book of morrow. What do you mean by ‘book of morrow’?
A. Industrial progress of India. B. bright future of our country.

C. the beautiful temples D. reading books
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76. What did the poet, V.K.Gokak, want to sing about the natural beauty of India?
A. About Himalayas, oceans and golden sun rays B. the beggar and leper

C. the rock-cut temples D. the dams and lakes

77. Jazz player was standing like @ .......cccccvevenennne.
A. white bird B. young boy

C. Charlie Chaplin D. black ancient mariner

78. May day or night .......cccccoeeveveeeeeeeeeeee,
The appropriate option to complete this line of the poem is
A. things you see, B. myself | make

C. I sleep or play; D. blessings of the sight,

79. The students march was an unusual in ‘Narayanpur Incident.” Why?
A. there were slogans and shouts B. Students are very brave

C. students were very poor D. there were no slogans and no shouts
80. What did Haneef choose as his mission?
A. working for poor people B. Joining Indian army

C. helping the people D. Joining musical party

Click here for Key Answers
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